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2Xx10x8=
What is CLV?

Round 3.9 to the nearest
whole number =

2 of 42 =

6

7% =

2496 + 24 =
82X6=

What is the value of the
underlined digit? 7437

3525+ 1200 =
1254 x 32 =

/x4 x5=
What is XCVII?

Round 10.8 to the nearest
whole number =

2of72 =

6

9% =
3264 + 24 =
89 x6 =

What is the value of the
underlined digit? 18653

8651 + 1300 =
1624 x 32 =

O9x12x4-=
What is CCLX?

Round 19.9 to the nearest
whole number =

> of 96 =
142 =

4272 = 24 =
98 x 6 =

What is the value of the
underlined digit? 75371

17543 + 1320 =
2432 x 32 =



T o e

2x10x8=160
What is CLV? 155

Round 3.9 to the nearest

whole number =4
= of 42 =14

7°=49

2496 + 24 =104

82 x 6 =492

7437 =30

3525+ 1200 =4725
1254 x 32 = 40128

7x4x5=140
What is XCVII? 97

Round 10.8 to the nearest
whole number =11

%of72=48

92 =81

3264 +24 =136
89x6=534

18653 = 600

8651 + 1300 = 9951
1624 x 32 = 51968

O9x12x4 =432

What is CCLX? 260
Round 19.9 to the nearest
whole number = 20

> of 96 = 80

14% =196

4272 +24 =178

98 x 6 = 588

75371 = 5000

17543 + 1320 = 18863
2432 x32=77824



